
Copyright © 2009 Pahlén AB, Box 728, SE-194 27 Upplands Väsby, Sweden
Tel. +46 8 594 110 50, Fax +46 8 590 868 80, e-mail: info@pahlen.se, www.pahlen.com

SVENSKA ENGLISH DEUTSCH РУССКИЙ
 1 Mutter Nut Mutter гайка
 2 Bricka Washer Scheibe шайба
 3 Packning Gasket Dichtung прокладка
 4 Plugg Plug Stopfen держатель электрода
 5 O-ring O-ring O-Ring уплотнительное кольцо
 6 Jordning PB200 Earthing PB200 Erdung PB200 заземление
 7 Taggbricka Serrated lock washer Fächerscheibe гровер-шайба
 8 Mutter M5 Nut M5 Mutter M5 гайка M5
 9 Elektrod Electrode Elektrode электрод
10 Kabel Cable Kabel разъем с кабелями
11 Ringkabelsko Ring terminal lug Ringkabelschulz клемма заземления

PB200

Monteringsinstruktion
MA60-07

2011

11

1

2

3

4

5

9

10

6

7

8

Th
is

 d
oc

um
en

t a
nd

 it
s 

co
nt

en
ts

 a
re

 th
e 

ex
cl

us
iv

e 
pr

op
er

ty
 o

f P
ah

lé
ns

 a
nd

 m
ay

 n
ot

 b
e 

co
pi

ed
, 

re
pr

od
uc

ed
, t

ra
ns

m
itt

ed
 o

r c
om

m
un

ic
at

ed
 to

 a
 th

ird
 

pa
rty

, o
r u

se
d 

fo
r a

ny
 p

ur
po

se
 w

ith
ou

t w
rit

te
n 

pe
rm

is
si

on
.

Art.no.

Rev.no.

Scale

Designed by: Approved by:

Revised by:  Date

Drawn by:  Date

Drawing number

Assembly drawing no.

Surface treatment

part of ISO 2768-1 
The tolerance class in accordance with this

E

Box 728, SE-194 27 Upplands Väsby, Sweden
Phone +46 8 59411050, Fax +46 8 59086880

(16013060)
ASA 2010-06-15

Autodos
Montering PB200 fritt klor

 M11248 0Sid 2

Th
is

 d
oc

um
en

t a
nd

 it
s 

co
nt

en
ts

 a
re

 th
e 

ex
cl

us
iv

e 
pr

op
er

ty
 o

f P
ah

lé
ns

 a
nd

 m
ay

 n
ot

 b
e 

co
pi

ed
, 

re
pr

od
uc

ed
, t

ra
ns

m
itt

ed
 o

r c
om

m
un

ic
at

ed
 to

 a
 th

ird
 

pa
rty

, o
r u

se
d 

fo
r a

ny
 p

ur
po

se
 w

ith
ou

t w
rit

te
n 

pe
rm

is
si

on
.

Art.no.

Rev.no.

Scale

Designed by: Approved by:

Revised by:  Date

Drawn by:  Date

Drawing number

Assembly drawing no.

Surface treatment

part of ISO 2768-1 
The tolerance class in accordance with this

E

Box 728, SE-194 27 Upplands Väsby, Sweden
Phone +46 8 59411050, Fax +46 8 59086880

(16013060)
ASA 2010-06-15

Autodos
Montering PB200 fritt klor

 M11248 0Sid 2

Elektrod monterad i modul
Electrode assembled in module
Elektrode montiert in Modul
В сборе
 

Montering av elektrod för mätning av fritt klor i Autodos Mät- & Doseringsutrustning från Pahlén.
Assembly of electrode for measuring of free chlorine (PB200) in Autodos measuring and dosing equipment from Pahlén.
Montage einer Elektrode für Messung von freiem Chlor (PB200) in Autodos Mess- und Regelgerät von Pahlén.
Монтаж электрода для измерения свободного хлора в измерительно-дозирующей системе Autodos от Pahlen.

Free
Cl

Installation instruction

ИНСТРУКЦИЯ ПО МОНТАЖУ
Installationsanweisung


